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Use multiplication rules to determine the missing remainder for each problem.
1) 258÷5 = 51 r     3      2) 48÷10 = 4 r     8      

3) 846÷2 = 423 r     0      4) 7,565÷2 = 3,782 r     1      

5) 6,016÷10 = 601 r     6      6) 29÷5 = 5 r     4      

7) 4,229÷2 = 2,114 r     1      8) 60÷5 = 12 r     0      

9) 9,279÷10 = 927 r     9      10) 4,929÷5 = 985 r     4      

11) 262÷2 = 131 r     0      12) 591÷5 = 118 r     1      

13) 597÷10 = 59 r     7      14) 5,363÷10 = 536 r     3      

15) 87÷5 = 17 r     2      16) 43÷2 = 21 r     1      

17) 6,326÷5 = 1,265 r     1      18) 814÷2 = 407 r     0      

19) 6,512÷10 = 651 r     2      20) 88÷2 = 44 r     0      

Answers

1. 3
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3. 0

4. 1

5. 6

6. 4

7. 1
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10. 4
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14. 3

15. 2

16. 1

17. 1

18. 0

19. 2

20. 0
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0
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Use multiplication rules to determine the missing remainder for each problem.
1) 258÷5 = 51 r     3      2) 48÷10 = 4 r     8      

3) 846÷2 = 423 r     0      4) 7,565÷2 = 3,782 r     1      

5) 6,016÷10 = 601 r     6      6) 29÷5 = 5 r     4      

7) 4,229÷2 = 2,114 r     1      8) 60÷5 = 12 r     0      

9) 9,279÷10 = 927 r     9      10) 4,929÷5 = 985 r     4      

11) 262÷2 = 131 r     0      12) 591÷5 = 118 r     1      

13) 597÷10 = 59 r     7      14) 5,363÷10 = 536 r     3      

15) 87÷5 = 17 r     2      16) 43÷2 = 21 r     1      

17) 6,326÷5 = 1,265 r     1      18) 814÷2 = 407 r     0      

19) 6,512÷10 = 651 r     2      20) 88÷2 = 44 r     0      

Answers
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